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Universal Concrete is the biggest 
concreting company in the city.

Oscar and the boys are the best in 
town, however, they’re not the best 
mathematicians. 

They can’t work out how much to 
charge their clients! 

Help them work out the area of 
each backyard concrete pad and 
how much they should charge their 
clients. Add them altogether to 
find their earnings for the week 
and then help Oscar pay his 
workers.

Area Challenges



12m

8m

8m
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Square Meters = _______

Charge Customer = _______ 
Cost

$10 per square meter

House 1
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2m
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Square Meters = _______

Charge Customer = _______ 
Cost

$8 per square meter

House 2
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12m

12m
7m

Square Meters = _______

Charge Customer = _______ 

Cost
$12 per square meter

House 3

6m
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10m
6m

Square Meters = _______

Charge Customer = _______ 

Cost
$5 per square meter

House 4
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20m

Square Meters = _______

Charge Customer = _______ 

Cost
$3 per square meter

House 5
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